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Aufgabe 1
Multipliziere aus wie im Beispiel a).
a) 10¢(d + 1) = 10ed + 10¢ b) 8¢(b + 12) = 8be + 96¢ c) 4(d+8) = 4d + 32
d) 6(v+6) = 6v+ 36 e) 8(w+7) = 8w + 56 f) 8e(d + 3) = 8de + 24e
g) 6z(w+ 11) = 6wz + 662 h) 4(w +19) = 4w + 76 i) 8(c+ 11) = 8¢ + 88

j) 4(w+4) = 4w + 16
Aufgabe 2

Multipliziere aus wie im Beispiel a).

a) 7d(d +2) = 7d? + 14d b) 3b(d + 15) = 3bd + 45b

c) Yz +4) =9+ 36

d) 5(3¢ + 5d) = 15¢ + 25d e) 3z(6x + Tw) = 21wz + 1822
f) 7b(3b 4 2¢) = 216 + 14bc g) 5d(b+ 5) = 5bd + 25d
h) 10y(y + 2x) = 20xy + 10y> i) Ty(Ty + 62) = 49y% + 42y

) 9y(y + 4) = 9y* + 36y
Aufgabe 3
Multipliziere aus wie im Beispiel a).

a) 4(7a + 2¢ + 10d) = 28a + 8¢ + 40d

b) 9(2v + w + 3y) = 18v + 9w + 27y

c) 4(3d + 2¢) = 12d + 8e d) 8(2w + z + 3y) = 16w + 8z + 24y

e) 10y(z + 4) = 10zy + 40y f) Tc(a+7) = Tac + 49¢

g) 4(bw + 11z + y) = 20w + 44z + 4y h) 8a(c+ 3) = 8ac + 24a

i) 10z(y + 2) = 10zy + 20z j) Tx(y +6) = Toy + 42z

Aufgabe 4

Multipliziere aus wie im Beispiel a).

a) 8y(v + 2) = 8vy + 16y b) 6a(e + 7) = 6ae + 42a c) 4(v+3) =4v+ 12

d) 4(c+2) =4c+38 e) 8c(e + 2) = 8ce + 16¢
g) 9d(e + 4) = 9de + 36d h) 5(d+7) = 5d + 35

j) 6(8b+ Tc+ 2d) = 48b + 42¢ + 12d
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f) 8(3v + 5x) = 24v + 40x
i) 4(5w + y) = 20w + 4y
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